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4 23. mm  

 10  13  20  25 

1 24. CNS 12  

      

     

2 25. 200 mm 90 1:10 mm  

 28.2  31.4  282  314 
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2 27. “R”  
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3 28. 250

 

 2.5    25   

 250    25000  

4 29. CNS 4053-1  

 A   B   E   W  
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1 31.  

 1/16  1/20  1/24  1/50 
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 13  16  20  24 
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   PVC   HDPE    
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3 45. 5m 1cm  

 1 50   1 100  

 1 500   1 1000 
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2 48. PVC 50 cm 90 R100

PVC   

 1  2  3  4 

1 49. 0.2-1.5 ppm 1  

 0.2-1.5g 

 0.4-3g 

 0.2-1.5kg 

 0.4-3kg 

4 50. (CaCO3) 400 ppm (WHO)
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